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QUESTION 1

Click the Exhibit button.

user@hosté# show security advance-policy-based-routing
profile profilel {
rule rule-appl {
match |
dynamic-application juncs:HITFE:
}
then {
routing-inatance Rl;

1
¥

1
rule rule-appz |
match |
dynamic-application junos:junos:web:social-networking;

}
then |

routing-instance RZ;

}

rule rule-app3d {
match |
dynamic-application juncs:YAHOO;
}
then {
routing-instance R3;

g

Your organization requests that you direct Facebook traffic out a different link to ensure that the bandwidth for critical
applications is protected.

Referring to the exhibit, which forwarding instance will be used on your SRX Series device?
A.R3

B.R1

C.R2

D. inet.0

Correct Answer: C

JNO0-634 PDF Dumps | JNO-634 Exam Questions | JNO-634 Braindumps 215


https://www.passapply.com/jn0-634.html
https://www.passapply.com/jn0-634.html
https://www.passapply.com/jn0-634.html

VCE & PDF https://www.passapply.com/jn0-634.html
2024 Latest passapply JN0-634 PDF and VCE dumps Download
PassApply.com

QUESTION 2

Click the Exhibit button.

[edit]
userfhoscg show incerfaces ge-0/0/4
unic 0 {

family ethernet-switching |
interface-mode access;

vian [
members SV
}
}

}
[edit]
userfhoscé show incerfaces ge-0/0/5
unic 0 |

family ethernet-switching {
incerface-mode access;

vian {
memhers S5V
}
}

}
[edic]
userfhost# show vlans
sV

vian-id 101;
}

[edit]
userfhoscé show securicy forwarding-options
secure-wire |
access-aw |
incterface [ ge-0/0/4 ge-0/0/5 1:
}
}

[edit]
user@hoscé commit
[edit security forwarding-options secure-wire accesss-sw)
‘interface ge-0/0/4'
Interface nam= ge-0/0/4 is not wvalid
[edit security forwarding-opticns SEcure-wire AcCcess-—sW]
‘interface ge-0/0/4"
Error: two and only two logical interfaces are required for a
SEecCure-wire
error: configurartion check-out failed
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You are trying to implement secure wire on your SRX Series device. However, you are receiving the commit error
shown in the exhibit.

What must you do to solve the problem?

A. Add the correct logical units to the interfaces in the secure wire.

B. Put the ge-0/0/4 and ge-0/0/5 interfaces in separate secure wires.

C. Change the Ethernet switching mode from access to trunk for the ge-0/0/4 and ge-0/0/5 interfaces.
D. Add the ge-0/0/4 and ge-0/0/5 interfaces to the SV VLAN.

Correct Answer: A

QUESTION 3

Click the Exhibit button.

userfhost$ show security idp
ldp-policy base-policy {
rulebase-ips {
riale R1 {
match |
from-zone trust:
source-address any;
to-zZone untrust;
destinatvion-address any;
application defaulc:
attacks |
predefined-attack-groups HITP-Critical;

}
}
then |
action {
mark-diffserv |
190;
}
}
}

Referring to the security policy shown in the exhibit, which two actions will happen as the packet is processed? (Choose
two.)
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A. It passes unmatched traffic after modifying the DSCP priority.

B. It marks and passes matched traffic with a high DSCP priority.
C. It marks and passes matched traffic with a low DSCP priority.

D. It passes unmatched traffic without modifying DSCP priority.

Correct Answer: BD

QUESTION 4

After downloading the new IPS attack database, the installation of the new database fails. What caused this condition?
A. The new attack database no longer contained an attack entry that was in use.

B. The new attack database was revoked between the time it was downloaded and installed.

C. The new attack database was too large for the device on which it was being installed.

D. Some of the new attack entries were already in use and had to be deactivated before installation.

Correct Answer: A

QUESTION 5

Which two statements about the integrated user firewall feature of the Junos OS are true? (Choose two.)
A. The maximum number of supported active directory servers is ten.

B. IPv6 addresses are not supported.

C. The maximum number of supported active directory servers is five.

D. IPv6 addresses are supported.

Correct Answer: AB

JNO-634 PDF Dumps JNO0-634 Exam Questions JNO-634 Braindumps

JNO0-634 PDF Dumps | INO-634 Exam Questions | JIN0-634 Braindumps 5/5


https://www.passapply.com/jn0-634.html
https://www.passapply.com/jn0-634.html
https://www.passapply.com/jn0-634.html
http://www.tcpdf.org
https://www.passapply.com/jn0-634.html
https://www.passapply.com/jn0-634.html
https://www.passapply.com/jn0-634.html

